1st year Computer Science

TD 1 (Series of Exercises n°1)

Exercise N°01

Convert the following numbers :

13(10) = wve ov eeewoe e e it e e e ee(2) B0(10) = wvv v eee wor er eee et et e e
132(2) = coeor e o e e e e e e 1(10) 198(g) = wovev ceeor e e e e
13E(16) = cer ees or ees or eeswoe s ene e ex(10) ABC(16) = wvv crs vre ersvre e vee

Exercise N°02

Machine Structure 1

®

e e (10)
e e2(10)
e eee wex(10)
e e wex(10)

1- Give in binary, octal and hexadecimal the representation of the lower decimal

2- Make the following conversions by two methods:
N e 1101101113 = ..o .

numbers of 16

Exercise N°03

1-

Perform in binary then check the following operations in decimal :

1100011 100011 101

+ 10111 - 101 x 110

110011 101011 110

+ 11101 - 1111 x 11
1111111 1100 10

Perform in octal then check the following operations in decimal :
176 352
+ 573 - 271

Perform in hexadecimal then check the following operations in decimal :

20E 12F
+ F3 . 3E

®
ane owus ...(16)



